ok 3 WAk obd 22

O 4x+1<-x-2

@ x7} &golH x= E50|tt
® x=-1°¥ x+4 = 30|},
@ 29 Hj4= 49 4o},

® xy=0°H x=0%FE=y=00°]|t}.






X >
2l

A

0.y>0 W4 VIt 5 2xty) & OEA HEg
(7

flo

D Vx+ y< V2(x+y) @ Vx+y< V2x+y)

@ Vit \F> 21y @ Vit Tz \201y)
® Vr+\F= 20 +y)



4. 5 a, b, coll ot a+b+c =9 W abe 9] HHZ2?

® 19 @ 21 ® 23 @ 25 ® 27



oA

a
.

N
oju
ol

)

5.

ol
BN
o

ofg

-,
__OO

~po~q7t 3

® Qcp

=0

@ PnQ

U

® pPuUQ

® P=0Q

@ PcoQ



©9

3t x+1=00] x*42x4a=00°] 7]

A% x o o
o, &4 a o

6.

® 5

@ 4

® 3

@ 2

D1






a,b 7} A5 o, thg-2 BS54l + bl > la + bl & FHT ZolT
FRIe] 20]7] g2 4L N2

=1

o O

(lal + [b1)* = (la + bI)?

= lal* 4 |b|* + 2lallb| - (a + b)?

= a® + b? + 2lab| — a®> — 2ab - b?
= 2(labl — ab) 0

o (lal 4+ 161)? = (Ja + b])?

~al 4+ bl = la + b

@ lal>a

@ azb,b>c°Haxc
® |af2 = a2

@ a-b>0°Ha>bh

® a>0,b>0,a2>b20Ha>b



D) (v a) o Aggre w0

® 7 @ 8 ® 9



10. Ay, zoll ot x2 +y% +22 = 62 W x+ V2y+ V3z 2] 9zt
M3}t 57 m2?
O M=3 m=0 @ M=3m=-3
@ M=6,m=0 @ M=6,m=-6

® M=6m=-12






12, o3 A &, AAE A=t (B, xy = A9)
xy#0O]H x#0 E=y#0 0|}

D L
=%



13. S 2Ap:x=21<h, q:|x+1 <7°] tdte] ‘polH 4ol 7}
o] F|=& of= h 9] RS Fotolel (T, h>0)

D R
=%



14. A5 x ol iste] HA ‘ax? +a?x-6 # 0 ©]H x # 2 o]t} 7} Fol7]
At BE A4 g 9 gho ke otodat. (T a#0)

D R
=%



15. A5 xol tsto] thg AP AL W, 9] A% Fofoler,

x>af|H |x-2/>4




16. Y xAp g r.sAldstd BAp = ~qq = rs = q¥
H7] F 2l WA o] A0

@ qg=>p O s=>r © r=s
® p=~s @ g=>~p ® ~r=~gq
XD s=>~p

@ 374 @ 474 @ 571 @ 674 ® 74







B e A7

Ao A BA p:xy=0,g:1xl+yl=0,r:x+y=0¢]

Al
=
© A
==

7}
=

= 1!

X
o

18.

B

!

q °171

A

® p

_é.o

o

® gx=rol7]



©
=]

1. ol o

S

W
R 2R F

Fod=t.

I

T

S
i

oF

P

{(PnQ)u(PnQ)}nQ

el

N



el

Nd



